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1. commandwindow
2. clear
3. clc
4. format long g
5. pro = xlsread('fared');
6. x = pro(:,1);
7. y = pro(:,3);
8. [xr xc] = size(y)
9. x1 = ones(xr,1)
10. X = [x1 x]
11. [bookmark: _GoBack]solution = regress(y,X)
12. a0 = solution(1);
13. a1 = solution(2);
14. alpha = 10^a0
15. beta  = 10^a1
16. ysim = a0 + a1*x;
17. Rvalue = corr(y,ysim)
18. Rsquare = Rvalue^2
19. [mcoeff,mcoeffint,mresid,mresidint,mstat] = regress(y,X)
20. mcoeff;
21. mstat;



Commandwindow

xr =

    11


xc =

     1


x1 =

     1
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     1
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     1
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X =

     1     0
     1     1
     1     2
     1     3
     1     4
     1     5
     1     6
     1     7
     1     8
     1     9
     1    10


solution =

         0.275110420148632
         0.479729378793104


alpha =

           1.8841280715276


beta =

          3.01807048903391


Rvalue =

          0.99984483235763


Rsquare =

         0.999689688792257


mcoeff =

         0.275110420148632
         0.479729378793104


mcoeffint =

         0.237405503791969         0.312815336505295
         0.473356084696501         0.486102672889708


mresid =

        0.0259195755153492
       -0.0558697946057176
         0.044184423217988
       -0.0153285521919266
       -0.0150509880278804
      -0.00165945617843688
       0.00336520816275243
        0.0211530192749225
      -0.00114544359512259
        0.0214310816714587
       -0.0269990732433918


mresidint =

       -0.0298907939278192        0.0817299449585175
       -0.0996178075902425       -0.0121217816211928
       -0.0108013784813768        0.0991702249173527
       -0.0816788568419971        0.0510217524581438
       -0.0825078072657647        0.0524058312100039
       -0.0705554240111001        0.0672365116542264
       -0.0651437142095892         0.071874130535094
        -0.044124252509016         0.086430291058861
       -0.0668740453660719        0.0645831581758267
       -0.0392602126848383        0.0821223760277557
       -0.0824682140666129        0.0284700675798293


mstat =

        0.999689688792257          28994.1419279153      4.22593930439509e-17      0.000873122250675076
